2020.2.27

A=

12 / 227 / 7]

st
ol

A SHA 9_]-

1

]

ol / golLe / 4

A
(=]
=

sk
Sl

5

: 128s

ot

sh7]
st7] .

o

kel

-1
-2

o

o) 714 @
© = 09:00~12:00
13:30~16:30
16:30~19:30

=
T

=
=
16:30~17:30

o 8AYE, of
19+/B002)
2¥1/B003) :
A
e

(
(
(

s7] A
o472
o 47
o] 147 9 2(341/B004) :

St
St
St

R
A

A
4. or53]Y(B094) :

Bl 2020-1
1
2.
3

=)

et

S

S

|

[e]

I

A

g

A
2 4

ol A= J|AE K| e, €} shat

}

2

(e}

152

]

iof

olJ

L
ol

oK
%0
Tor

X35

(BIEA] NEZ

Tor

- AAnats o)f &A

e
o
vul
Tor
.

<

mmo

HAE) wotgo]

5t

= Al

LS|
=

FRE7|IM AE

713kof| o]

- AFL(Ajou Flagship Lecture:

=0
Tor

.,

Klo
o
Klo

Tor
Ho

)

7S
-1 a

[}

3925

9

=

k=
3

g ol

St
=N

95

=

372

==

o)A Ab 37K] 242 o]

o

RH
o

a2 o]
Qa)/

crtele) &

R e

=]

/S

=
L

toloF &)
%

d 3N FHAA 1
[©)

],

[S)
=1

L QR0 AL}

|48 17 ol4fo] AFLiH= wheA] o]4

19

o

=}
LN



- ﬂ .
N2 o
m 3l mﬂ o)
& AN 54
™ o nd il
S 50 Al
) S S
o B o o
op WA E
<
~
ol .
2] g - U_
= [— ~ N m @)
lor 5l ol oJ -
oklmg| &< of & ok
or (o & l =)
I ) S &l
5r OF ol =
0
. o L Lo
A oD & A
= D 3 3l .5lalo
i S5 & = 5 &< X
o o 5o o+ w0 OF OF
o L o AW
ol =Ys > Moo 2
o = b 3 i or
x AnY R
o M el = o) o
o =< R0
4 5 | =4
WS | WET | ® wm i
g | PRy | FR2y | <5 Ly
s |1 R mar Rl mg Rl
S OH O S| R 2
3ol l YIS ol = °
~nl ~ nl - nl
A\ Vv A\

Ml

=2

H

B [-CAP

g AR AlgH=

st

7R Fo(

=
| .

woll =

Ujo

3 ™aa) of

3}
Ql(http://ie.ajou.ac.kr)

szuo]x] Zx|Ab

51
2

=r
N

r
i
K-

go]AEo] -> "o}

| =
= . =

« ot o]

MWAEO] > 'of

* 10S


http://ie.ajou.ac.kr

4) |

to{oF ! )

oll
<l

m ==
= ol ol Al(

5]

P =)
8 25 ol

ol

W ok

HQ
e o
<t B a
i 3 T
+ 4 <t .
. y
i o i
o o Ll
5 o
— #l
__Iom < o
.A..E Tor o
i i
o Oh )
+ K
h =+ +
il ol
_”__._._._ __2
= H
__Iom < o
<N Tor y
) T
o o _Pﬁ
o = "
+ i
T -+ +
i g i
il m ol
o S, "
< ﬁ__._._._
ol 5
SUR! o
] i
ol o
o o i
+ "
h = +
i g i
oW ol
o _._._
. -
— o N
SV

)

@_ -
~O )
¢
3l =3
o 1o
~ i
- l—ll_
ol )
v ofn
n_N_ ar
w —
m ilo.
|__A|O — — =+
ﬁ%%ﬁ

ol
%%%W
ﬂ%%%
60 80 G0 Br
ﬁmﬁ%

110 __O

Ko 31

mn = =
o]

oh o lof

~ ~ ﬂo
mq_l - <
() __Ion ol
o .Ar=._ .Ar=._ 0
N ol for =
—nn ol
T O O 7
H - -1

__A b n/_nn
K ar 2

—

F o =

S .. ol
o

=
ol
Mo
oD

~d



